WIRE TWINNING DEVICE
JUMELEUR DE FILS EN/FR
WWW.600MH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQUA 3 MM DE DIAMETRE MAXIMUM.

MULTILINGUAL
VERSION

VERSION
MULTILINGUE



WIRE TWINNING DEVICE

fJ0/n) /s 8 | JumELEUR DEFILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQU'A 3 MM DE DIAMETRE MAXIMUM.

P

a. Make a sharp 90° turn towards the island and |
keep inserting the wire in the ground for about 1 meter. [ Tk

b.  Stop and tilt the machine forward to rest on the
kickstand.

A.  Effectuez un virage serré de 90° vers I‘ilot et i
continuez a insérer le fil dans le sol sur environ 1 métre. &

B. Arrétez et inclinez la machine vers I'avant pour
qu'elle repose sur sa béquille.

a. Pull the wire out of the ground from the
machine back to the perimeter and for another 15 cm
past the 90° point.

b. Secure the wire with a spike.

Note: This is important as the spike will hold the wire
in place and will become the target to go over with
the wheel on the way back.

A. Tirez le fil hors du sol a partir de la machine
jusqu’au virage a 90° et sur 15 cm de plus passé ce
point.

B. Fixez le fil avec un piquet.

Note : Ceci est important puisque le piquet
maintiendra le fil en place et sera la cible sur laquelle
passer avec la roue lors du retour.




WIRE TWINNING DEVICE

fJ0/n) /s 8 | JumELEUR DEFILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQU'A 3 MM DE DIAMETRE MAXIMUM.

a. Walk the machine towards the island without
inserting the wire in the ground by tilting it forward
and activating the traction lever.

A. Faites avancer la machine vers I'ilot sans
insérer le fil dans le sol en I'inclinant vers I'avant et
en activant le levier de traction.

a. When the machine is about 1 meter from the
intended island circle perimeter, start inserting the
wire in the ground and make a 90° turn at the island
perimeter.

b. Drop a marker at the 90° point - we use the
hex wrench - to have a visual of the entry point.

A. Lorsque la machine est a environ 1 métre du
périmétre du cercle de I'ilot prévu, commencez a
insérer le fil dans le sol et faites un virage de 90° au
périmétre de I'ilot.

B. Plantez un marqueur au point de 90° - nous
utilisons la clé hexagonale - pour avoir un visuel du
point d'entrée.




WIRE TWINNING DEVICE

Y8 /n)]. /s B | JUMELEUR DEFILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQU'A 3 MM DE DIAMETRE MAXIMUM.

a. Continue inserting the wire in the ground
around the island perimeter and stop about 1 meter
before the reunion point marker.

A. Continuez a insérer le fil dans le sol autour du
périmétre de I'ilot et arrétez-vous environ 1 métre
avant le marqueur déposé précédemment.

a. Pull the wire out of the ground between island
perimeter and lawn perimeter up to the 90° point.

b. Then, at the 90° point, pull another 15 cm of
wire out on the island perimeter and secure the wire
with the wrench.

C. Pull any wire slack towards the trench.

A. Tirez le fil hors du sol entre le périmétre de
I'ilot et le périmétre du jardin, jusqu’au point de 90°.

B. Ensuite, au point de 90°, sortez encore 15 cm
de fil sur le périmétre de I'ilot et fixez le fil avec la clé
hexagonale.

C. Tendez tout excédent de fil resté mou en le
tirant vers la tranchée.




WIRE TWINNING DEVICE
« 6500 MH JUMELEUR DE FILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQUA 3 MM DE DIAMETRE MAXIMUM.

5

a. Drive with the left wheel over the wrench as
you make a 90° turn towards the lawn perimeter
and stop. The above ground wire should now be
under the machine, and the knife in the trench made
on the way in.

CAUTION: DO NOT DRIVE OVER THE WIRE ON THE
GROUND! MAKE SURE THE TIRE CLEARS THE
WRENCH WHEN DOING THE 90° TURN.

A. Avancez en passant la roue gauche sur la clé
pendant que vous tournez a 90° vers le périmétre
de la pelouse et arrétez-vous. Le fil au-dessus de la
terre doit maintenant étre sous la machine et la
lame dans la tranchée faite lors de I'arrivée.

ATTENTION : NE PASSEZ PAS SUR LE FIL AU SOL
AVEC LA ROUE ! ASSUREZ-YOUS QUE LA ROUE DE
GAUCHE PASSE SUR LA CLE EN TOURNANT DE 90°.

41 a Stop the engine/motor, tilt the machine forward

and rest it on the kickstand.
b. Pull the wrench out of the ground and use it to
_ remove any dirt from the slot in the Wire Twinning Device.
E C Slide the wire into the opening in the deflector plate.

Place the wire over the cross bar and in the slot of the WTD.
Tilt the machine back to the working position.

A. Arrétez le moteur et inclinez la machine vers
g f I'avant pour qu’elle repose sur sa béquille.
[ y \; blf h R R b i ] B. Retirez la clé du sol et utilisez-1a pour enlever
/ / fh -". ' toute saleté de la fente du jumeleur de fils.
"r | & Insérez le fil dans I'ouverture de la plaque

déflectrice.

A PREC AUTION POk coULD BE INJURED [F YOU DO NOT STOP THE ENGINEMOTOR D.  Passezle fil au-dessus de la barre transversale et
THE BLADE CAN CRUSH HANDS. insérez-le dans la fente du jumeleur de fils.
VOUS POUVEZ ETRE BLESSE SI VOUS N'ARRETEZ PAS LE MOTEUR i iti i

n PREC AUTION LORS DE LETAPE & E. Remettez la machine en position de travail.
LALAME PEUT ECRASER LA MAIN.




WIRE TWINNING DEVICE

« 600 MH JUMELEUR DE FILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION

ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQU'A 3 MM DE DIAMETRE MAXIMUM.

a. Push down any exposed wire using the Wire i) -

Pusher (PWMA-0020).

b.  Start the engine/motor and resume
installation of both wires in the normal fashion.

.—1“- .

Lk
A. Poussez dans la tranchée tout excédent de fil .ﬂ' \
exposeé a I'aide de I'outil manuel d’insertion du fil Y i.‘ ‘L
(PWMA-0020).
n’
\r\ i'u \'u
B. Démarrez le moteur et reprenez I'installation | A \
des deux fils de maniére habituelle. Wil -

a. When you reach the reunion point, drive over
the spike with the left wheel as you make a 90° turn.
The wire will tighten - a little upward movement will
help the wire exit from the WTD as you continue to
install along the lawn perimeter.

a. Lorsque vous atteignez le point de réunion,
passez sur le piquet avec la roue gauche en
effectuant un virage a 90°. Le fil se tendra — un petit
mouvement vers le haut aidera a faire sortir le fil du
jumeleur pendant que vous continuez a installer le
long du périmétre de la pelouse.



WIRE TWINNING DEVICE
« 6500 MH JUMELEUR DE FILS EN/FR

WWW.GOOMH.INFO Included: 1x 70-0138 - Wire twinning deflector / 1x 10-0502 - Wire twinning guide
PWMA-0017 2x 32-0018 - BHCS M6 / 2x 34-0008 - Nut M6 / 2x 36-0001 - Flat washer M6
HOW TO USE Inclus: 1x 70-0138 - Déflecteur du jumeleur de fils / 1x 10-0502 - Guide du jumeleur de fils
INSTRUCTIONS D’UTILISATION 2x 32-0018 - BHCS M6/ 2x 34-0008 - Nut M6 / 2x 36-0001 - Rondelle plate M6

APRECAUTION ALWAYS WEAR GLOVES WHEN USING THE TWINNING DEVICE. / PORTEZ TOUJOURS DES GANTS LORS DE LUTILISATION.
FOR USE WITH WIRE UP TO 3 MM DIAMETER MAXIMUM. / A UTILISER AVEC DU FIL JUSQU'A 3 MM DE DIAMETRE MAXIMUM.

_"'l"“"""“’ -~ ool

a. Walk back to the junction point and push
down any slack wire with the Wire Pusher
(PWMA-0020).

A. Retournez au point de jonction et poussez
dans la tranchée tout excédent de fil exposé a I'aide
de I'outil manuel d'insertion du fil (PWMA-0020).

As with many other techniques, you will need to
practice it a few times in order to master it and see
the many benefits of Wire Twinning Device.

Comme pour plusieurs autres techniques, vous aurez
a la pratiquer a quelques reprises afin de bien la
maitriser et ainsi apprécier les nombreux avantages
du Jumeleur de fils.




KABELZUSATZFUHRUNG

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6
BEDIENUNG m

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.




> KABELZUSATZFUHRUNG
« 600 MH

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6
BEDIENUNG

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

P

a.  Machen Sie eine scharfe 90°-Drehung in
Richtung der Insel und fiihren Sie das Kabel etwa [
1 Meter lang in den Boden ein. - "y

b. Halten Sie an und kippen Sie die Maschine nach
vorne, um sie auf dem Stander abzustellen.

a. Ziehen Sie das Kabel von der Maschine aus
dem Boden zuriick zur Begrenzung und fiir
weitere 15 cm iiber den 90°-Punkt hinaus.

b. Sichern Sie das Kabel mit einem Erdnagel.

Hinweis: Dies ist wichtig, da der Nagel das Kabel an
Ort und Stelle hadlt und zum Zielpunkt wird, iiber den
man auf dem Riickweg fahrt.




s 6O0MH

WWW.600MH.INFO

PWMA-0017

BEDIENUNG

KABELZUSATZFUHRUNG

Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /

2x 32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2x 36-0001 - Beilagscheibe M6

Fahrantrieb betdtigen.

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

a. Gehen Sie mit der Maschine auf die Insel zu,
ohne das Kabel in den Boden einzufiihren,
indem Sie sie nach vorne kippen und den

a. Wenn die Maschine etwa 1 Meter vom
vorgesehenen Inselbeginn entfernt ist, starten
Sie mit dem Einfiihren des Kabels in den
Boden und machen Sie eine 90°-Drehung am
Inselbeginn.

b. Stecken Sie am 90°-Punkt eine Markierung in
den Boden - wir verwenden den
Sechskantschliissel -, um den
Einfithrungspunkt sichtbar zu machen.



KABELZUSATZFUHRUNG

« 600 MH

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6

BEDIENUNG m

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

a. Fahren Sie damit fort, das Kabel um den
Inselumfang herum in den Boden einzufiihren,
und stoppen Sie etwa 1 Meter vor der
Markierung des Startpunktes.

a. Ziehen Sie das Kabel zwischen Inselgrenze
und Rasengrenze bis zum 90°-Punkt aus dem
Boden.

b. Ziehen Sie dann am 90°-Punkt weitere 15 cm

Kabel an der Inselgrenze heraus und sichern
Sie das Kabel mit dem Schraubenschliissel.

c. Ziehen Sie alle losen Kabel in Richtung Graben.




KABELZUSATZFUHRUNG
« 600 MH

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6

BEDIENUNG m

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

a. Fahren Sie mit dem linken Rad iiber den
Schraubenschliissel, wdhrend Sie eine 90°
-Drehung in Richtung der Rasengrenze
machen und anhalten. Das oberirdische Kabel
sollte sich jetzt unter der Maschine befinden
und das Messer in dem auf dem Weg zur Insel
angelegten Graben.

VORSICHT: FAHREN SIE NICHT UBER DAS KABEL AM
BODEN! STELLEN SIE SICHER, DASS DER REIFEN
DEN SCHRAUBENSCHLUSSEL BEI DER 90° -
DREHUNG NICHT BERUHRT.

Stellen Sie den Motor ab, kippen Sie die Maschine
nach vorne und stellen Sie sie auf den Stander.

b. Ziehen Sie den Schraubenschliissel aus dem Boden
und entfernen Sie damit jeglichen Schmutz aus dem
Schlitz in der Kabelzusatzfuhrung.

o c. Schieben Sie das Kabel in die Offnung der
Umlenkplatte.

d. Legen Sie das Kabel iiber die Querstangen und in
den Schlitz der Zusatzfiihrung.

Ki%pen Sie die Maschine zuriick in die
Arbeitsposition.

SIE KONNEN SICH VERLETZEN, WENN SIE DEN MOTOR WAHREND

AVORSICHT) sormenciasene,




KABELZUSATZFUHRUNG
« 600 MH

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6

BEDIENUNG m

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

a.  Driicken Sie alle freiliegenden Kabel mit dem (1
Kabelverlegetool (PWMA-0020) in die Erde. -

b. Starten Sie den Motor und setzen Sie die
Installation der beiden Kabel auf normale Art
und Weise fort.

|I .' bi"
\r\ i'u \'u "'r

'.\,

a. Wenn Sie den Ausgangspunkt erreichen,
fahren Sie mit dem linken Rad iiber den Nagel,
wahrend Sie eine 90° -Drehung machen. Das
Kabel wird sich straffen - eine kleine
Aufwartsbewegung hilft dem Kabel, aus der
Zusatzfiihrung auszutreten, wahrend Sie mit
der Installation fortfahren.




KABELZUSATZFUHRUNG
« 600 MH

WWW.600MH.INFO Im Lieferumfang enthalten: 1x 70-0138 - Kabelumlenkung / 1x 10-0502 - Kabelzusatzfiihrung /
PWMA-0017 2x32-0018 - BHCS M /2 34-0008 - Muter M6 / 2x 36-0001 - Beilagscheibe M6

BEDIENUNG m

AVORSICHT TRAGEN SIE IMMER HANDSCHUHE, WENN SIE DIE KABELZUSATZFUHRUNG BENUTZEN.
ZUR VERWENDUNG VON KABELN BIS ZU EINEM MAXIMALEN DURCHMESSER VON 3 MM.

_'l'l"*"‘ﬁ“"' R

a.  Gehen Sie zuriick zum Verbindungspunkt und
driicken Sie alle losen Kabel mit dem
Kabelverlegetool (PWMA-0020) hinunter.

Wie bei vielen anderen Techniken auch, miissen Sie
das mehrfach iiben, um das Gerat perfekt zu
beherrschen und die vielen Vorteile der
Kabelzusatzfiihrung zu erkennen.




WWW.600MH.INFO

PWMA-0017

BRUKSANVISNING

KABEL LEGGER ENHET

Inkludert: 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
2x 32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2x 36-0001 - Flat skive M6

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.



> KABEL LEGGER ENHET
« 600 MH

WWW.600MH.INFO Inkludert; 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
PWMA-0017 2x32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2¢ 36-0001 - Flat skive M6
BRUKSANVISNING

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

P

A.  Taen skarp 90 graders sving mot gya og fortsett '
a sett ledinger i bakken i ca 1 meter . Ll

B.  Stopp og vipp maskinen fremover for a hvile pa
stpttebeinet.

A. Trekk ledningen ut av bakken fra maskinen
tilbake til omkretsen og ytterligere 15 cm forbi
90 graders punktet.

B. Fest ledningen med en pigg. Merk: Dette er
viktig ettersom piggen holder ledningen pa
plass og blir mal & ga over med hjulet pa vei
tilbake




> KABEL LEGGER ENHET
« 600 MH

WWW.600MH.INFO Inkludert; 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
PWMA-0017 2x32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2¢ 36-0001 - Flat skive M6
BRUKSANVISNING

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

A. Ga med maskinen mot gya uten a stikke
ledningen i bakken ved i tilte den fremover og
aktivere trekkspaken

A. Nar maskinen er omtrent 1 meter fra den
tiltenkte gysirkelomradet, begynner du a sette
ledningen i bakken og dreier 90 grader ved gya.

B. Slipp en markgr pa 90 graders punktet - vi
bruker sekskantngkkelen- for a fa et bilde av
inngangspunktet




KABEL LEGGER ENHET

« 600 MH

WWW.600MH.INFO Inkludert; 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
PWMA-0017 2x32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2¢ 36-0001 - Flat skive M6
BRUKSANVISNING

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

A.  Fortsett d sett ledningen i bakken rundt
oyenes omkrets og stopp ca 1 meter for
gjenforenoingspunkt med aktgren

A. Trekk ledningen ut av bakken mellom gyas og
plenens omkrets opp til 90 graders punktet

B. Deretter trekker du ytteligere 15 cm ledning ut
pa dyas omkrets pa 90 grader punktet og
fester ledningen med ngkkel

C. Trekk ledningsslakk mot greften.




KABEL LEGGER ENHET
« 600 MH

WWW.600MH.INFO Inkludert; 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
PWMA-0017 2x32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2¢ 36-0001 - Flat skive M6
BRUKSANVISNING

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

Kjor med venstre hjul over npkkelen nar du svinger
90° mot plenens omkrets og stopp.

Den overjordiske ledningen skal na vare under
maskinen, og kniven i groften gjgres pa vei inn.

FORSIKTIG: IKKE KI@R OVER LEDNINGEN | JORDEN!
KONTROLLER AT DEKKET UNGAR N@KKEN NAR DU
VENDER 90 °.

Stopp motoren, vipp maskinen fremover og hvil
den pa stgttebenet.

Trekk ngkkelen ut av bakken, og bruk den til 3
Berne smuss fra sporet i wire Winning Twinning
evice.

Skyv ledningen inn i dpningen i avbgyningsplaten.

Plasser ledningen over tverrstangen og i sporet
pa WTD.
Vipp maskinen tilbake til arbeidsstilling.

. N :" .."""l'r"

DU KAN BLI SKADET HVIS DU IKKE STOPPER MOTOREN
A FORHOLDSREGLER LﬁggTskAN KNUSE HENDENE.




s 6O0MH

WWW.600MH.INFO

PWMA-0017

BRUKSANVISNING

KABEL LEGGER ENHET

Inkludert: 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
2x 32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2x 36-0001 - Flat skive M6

A FORHOLDSREGLER BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN

MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

A.  Skyv eventuell eksponert ledning ned med

Wire Pusher (PWMA-0020).

B. Start motoren og fortsett d installere begge

ledningene pa vanlig mate.

il b=

|I .' bi"
\r\ i'u \'u "'r

'.\,

A. Nar du ndr gjenforeningspunktet, kjgrer du
over piggen med venstre hjul ndr du svinger
90°. Ledningen vil stramme seg - litt
bevegelse oppover vil hjelpe ledningen til
komme ut av WTD nadr du fortsetter a
installere langs plenens omkrets.



KABEL LEGGER ENHET

s 6O0MH

WWW.600MH.INFO Inkludert; 1x 70-0138 - Winning twinning deflector / 1x 10-0502 - Wire twinning guide /
PWMA-0017 2x32-0018 - BHCS M6 / 2x 34-0008 - Mutter M6 / 2¢ 36-0001 - Flat skive M6
BRUKSANVISNING

BRUK ALLTID HANSKER NAR DU ANVENDER ENHETEN
A FORHOLDSREGLER MERKNAD: FOR BRUK MED LEDNING OPP TIL EN MAKSIMAL DIAMETER PA 3 MM.

_'l'l"*"‘ﬁ“"' R

Ga tilbake til krysspunktet og skyv ned
overskytende ledning med Wire Pusher
(PWMA-0020).

Som med mange andre teknikker, ma du gve pa det
et par ganger for @ mestre det og se de mange
fordelene med Wire Twinning Device.




www.600mh.info

info@portablewinch.com
1 888 388-7855/ +1 819-563-2193

REV:00 (2021-02-15)

1C-IU_PWMA-0017-R00 Designed, printed and published in Canada



	Blank Page



